y[x]

InBl= sl = DSolve[y' [x] + = Cos[xz] , yIx1, x]

1 1

outl3)= {{y[x] S erC[1] +e:£e’x7 Cos [K[1]?] d]Km}}

6= s2 = DSolve [y' [2x] + 2xxy[x] == 2 x3 xy[x]3, vIx], x]

NeS
out[e]= {{y[X] - - ’ }' {Y[X] - 2 }}

\/1+2x2+2e2><2<:[1] \/1+2x2+2e2X2C[1]

In[7)= s3 = DSolve[y'[x] x sinx -y[x] lny[x] =0, y[x], x]

x 1ny[K[1]]

our= {{yix) »ef e ¥y}
x-y[x]

Ingl:= s4 = DSolve[y' [x] = ——, y[x], x]
x +y[x]

Out[8]= {{y[x] 5 -x -/ e?Cl 42 x? }, {y[x] S —x 4+ e2C 12 k2 }}

Inf10]:= s5 = DSolve[xxy'[x] +xxy[x] = 3xx, y[x], x]
out(10= {{y[x] »3+e™C[1]}}

In[12]:= s6 = DSolve[xxy' [x] - 8 xy[x] = x3 x cosx, y[x], x]

cosx x°

out[12]=

——

{y[x]e— +x8C[l]}}

5

[x] R s
In[15]:= s7 = DSolve[xxy' [®x] - —— =x"xy[x]°, y[x], x]
x

(~1)1/4
out[15]= Hy[X] > - ) 1/4}’
(-8x+2x?-e¥*C[1] -32e"* EprntegralEi[—%])
{ . (~1)L/4 }
y[x] - !
(—8x+2x2 —e?/*Cc[1] -32e%* EprntegralEi[f%])1/4
(~1)3/4
{vix1 - - ik

(—8 x+2x?-et*C[1] -32e** EXpIntegralEi{—i])
X
(—1) 3/

{vix) > —1}

(—8 x+2x?-e?/*Cc[1] -32e%* EprntegralEi[— %])

In[20]:= s8 = DSolve[xxy' [x] xy[x] -y[x]%2+x%-2=0, y[x], x]

X

1
Out[20]= {{y[x] %\/X2C[1] + 2 %2 [——Z—Log[x]J }, {y[x] e\/xZC[l] + 2 x°

n[31]:= 89 = DSolve[x2 xy'[x] - (xxy[x] - 2)2 =0, y[x], x]

4 a
[x] =0, —[x], x|

a 2 a
Out[31]= DSolve[— (—2+x —[x]) + %2 (—
X

X X




